Erbijsommen met vilek tot en met 10 [1]

Oefening 1

1. 1 + = 6
2. * + = 8
3. 7 + = 8
4, A 5 + = 7

~
K o = PRl
+ o+
u—-**p NN mun—n*
1
N

10.

Oefening 2

1. 5 + * = 9
2. 0 + ‘ = 3
3. £ + 5 = 8
4. 0 + * = 1
5. 7 + * = 8
6. 1 + ‘ = 8
7. 2+ * = 9
8. 0 ¥ '* = 8
9. ‘ £ 3 = 3
10. “ + 2 = 5
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Erbijsommen met vlek tot en met 10 [1]

| ANTWOORDEN

Oefening 1
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Oefening 2

1. 5 + * - 9 4
2. 0o+ ‘ = 3 3
3. ‘ £ 5 = 8 3
4, 0 oo =1 [
5. 7 + L0 = 8 :
6. 1+ x = 8 7
7. 2+ * = 9 7
8. 0o+ * = 38 8
9. £ £ 3 = 3 0
10. » £ 2 = 5 3
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